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FA SIS
M Lol=X =X
Hel: LSMEEE X (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Arel S X110t 136,773,552 126,482,783 10,290,769
= 73,206,387
[ 3,476,975
Il 1,486,739
< 18,183,740
= 100,000
o 40,151,504
= 168,207
Ll NS 92,228,665 84,672,476 7,556,189
= 58,514,147
= 2,045,071
< 8,148,341
ES 100,000
o 23,418,706
= 2,400
CLRMESE X 74,864,758 67,000,543 7,864,215
= 58,113,537
[ 2,045,071
= 2,190,125
[Ea 12,513,625
= 2,400
A2l SR HEXHA 24,780 21,120 3,660
201 er23 | 5,500 4,000 1,500
01 At2teltl 5,500 4,000 1,500
OLQ=XAH E2= ME
4,000,000& 4,000
OZEEI} =2 1,500,000 1,500
202 04| 17,280 15,120 2,160
01 =LHOLI 17,280 15,120 2,160
O I=kl R o
17,280,000 17,280
203 HR=H] 2,000 2,000
03 A=A FAIH| 2,000 2,000
OAtRISXIE S AIZ=EIH|
2,000,000 2,000
COISAESAIE 12,600 12,600
307 @120l & 12,600 12,600
11 AMISXAIEEX 12,600 12,600
OLQISAES XA 12,600,000 12,600
COIMESE AR 110,000 90,720 19,280
301 2eEN=S 110,000 90,720 19,280
02 MBI 2EHSFHS(HAANS, XLHE) 110,000 90,720 19,280
OBSMI0Y FHefeol A2 e XIH
110,000,000 110,000
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FA SIS
M Lol=X =X
ol RdE2Rd X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
colthst 29 23,600 23,600
307 elztol & 23,600 23,600
11 AMEISXAIEEXE 23,600 23,600
okoltisr =2gX& 23,600,000& 23,600
ABIIRM X 7,000 7,000
307 gl2to| & 7,000 7,000
1 AMEISXAEEXS 7,000 7,000
O&BIIM XI& 7,000,000 7,000
DIESGIS, 58,631,631 52,080,837 6,550,794
= 52,770,847
= 1,172,157
o 4,688,627
301 EtE2 NS 58,631,631 52,080,837 6,550,794
= 52,770,847
= 1,172,157
o 4,688,627
01 Al EE A S (2 DEXR) 58,631,631 52,080,837 6,550,794
OJl=g3 58,631,631,000& 58,631,631
= 52,770,847
== 1,172,157
= 4,688,627
MY FEaaAg 91,780 63,700 28,080
301 LEetE N = 91,780 63,700 28,080
03 A2 H A0S (XILTHH) 91,780 63,700 28,080
OZZ2AE REaAAMY
5,000 353 525 91,780
MASTHIH= L AAIBIE AL 252,400 246,600 5,800
301 22N = 252,400 246,600 5,800
03 AR 2EHFS(XILH) 252,400 246,600 5,800
OMASHIEQl AAHHE ALY
252,400,000 252,400
ool g=lAL X2 128,950 128,950 0
201 er2 3| 3,950 3,950
01 AtR2telHl 3,950 3,950
O0HOlg 82 s+ 50,0002 ~90H 450
OLo=NFEA 2EH M
100,000 35 3,500
307 lztol & 125,000 125,000
11 AMEISXAEEES 125,000 125,000
OO0l &AL RIR (90 )
125,000,000 125,000
Lolold ALK 18,000 18,000
201 eer23y| 3,000 3,000




FA SIS
M Lol=X =X
Hel: LSMEEE X (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 3,000 3,000 0
wololY SAL HETY M
100,000 *30& 3,000
307 gl2to| & 15,000 15,000
1 AMISXAIEEXS 15,000 15,000
OLolold At X1 15,000,000 15,000
HoIEEU= XI& 12,000 6,000 6,000
307 212+01& 12,000 6,000 6,000
11 AMRISXAEEES 12,000 6,000 6,000
OZ+IIXAl HOIE=ZS T3
6,000,000 6,000
OLQls] Xg&I| HOIES el
6,000,000& 6,000
SHEO - el SsSHEtaMAElA 2 146,767 132,332 14,435
[ 72,184
= 14,437
[Ea 57,746
= 2,400
307 lztol & 146,767 132,332 14,435
s 72,184
s 14,437
s 57,746
= 2,400
11 AMEISXAIEEXS 146,767 132,332 14,435
OSAHEQ - B2 SSHHAMEIA 2
g 146,767 ,0002 146,767
[ 72,184
= 14,437
= 57,746
= 2,400
COISESSAHIA 2,818,410 2,358,220 460,190
s 1,972,887
== 253,657
o 591,866
307 212+01& 2,818,410 2,358,220 460,190
= 1,972,887
S 253,657
o 591,866
1 AMISXAIEEX 2,818,410 2,358,220 460,190
Okolsts=sAtIA 2,818,410,000& 2,818,410
[ 1,972,887
= 253,657
Ea 591,866
CLoIESESAEA 29 256,385 225,234 31,151
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FA SIS
M Lol=X =X
Hel: LSMEEE X (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 256,385 225,234 31,151
05 2IMRIE =3 256,385 225,234 31,151
O=QIRESSHHIA 2|
256,384,320 256,385
Colgntel & ASIES KIZAI(EX) 10,685,382 10,837,209 151,827
= 5,342,690
= 534,270
= 4,808,422
307 el2to| & 10,685,382 10,837,209 151,827
= 5,342,690
< 534,270
s 4,808,422
05 2ItRIE = 10,685,382 10,837,209 151,827
O3 (30, XIY9E)
8,016,751,000& 8,016,751
= 4,008,375
< 400,838
= 3,607,538
OAtg| MHIAE 1,657,580,000& 1,657,580
= 828,790
[ 82,879
T 745,911
OAEE 317,731,000& 317,731
= 158,865
& 16,887
Ea 142,979
OFgedd 30,000,000& 30,000
= 15,000
[ 1,500
Ea 13,500
O=gD|a A5l 663,320,000 663,320
= 331,660
< 33,166
[Ea 298,4%
Coldxiel ¥ AtEEs XYM (ZHIEX) 82,908 104,720 N21,812
= 41,454
= 41,454
307 elztol & 82,908 104,720 A21,812
= 41,454
Ea 41,454
05 212t =S 82,908 104,720 A21,812
OLolgdxiel & AMelEs XA
82,908,000 82,908
== 41,454




FA SIS
Hm: Lol=X|SX
ol RdE2Rd X2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 41,454
colgdxtel & AtslEs XIZAS (SEEYR2l) 320,000 0 320,000
307 21201 & 320,000 320,000
05 2IR”IRIE = 320,000 320,000
OLolgRel U AMSIEE XA (SHY
2 Xtel) 320,000,000 320,000
AILIGIZEE 22 438,248 411,34 26,914
307 elztol & 438,248 411,34 26,914
05 21t =S 438,248 411,34 26,914
OAILICIZE 24l 438,248,000& 438,248
SHEA AL 3,000 6,000 /3,000
301 EetE2 NS 3,000 6,000 23,000
14 JIEt2as 3,000 6,000 A3,000
Ogd=g X& 50,0003 *50t1+ 122 3,000
S s A 150,000 150,000
301 22N = 150,000 150,000
14 JIEt2 = 150,000 150,000
Oztadeig X 150,000,000 150,000
SREE A2 HAX HAXH ALY 48,417 20,167 28,250
308 XXM SOIA 48,417 20,167 28,250
11 SIS0t oA AS A 48,417 20,167 28,250
OZREES AM2AH A HAXEAI
48,416,500& 48,417
FAAE NS HE =8 E9 22,000 0 22,000
207 AR 22,000 22,000
NIEEEET 22,000 22,000
OBAMAIE XIH2=2HE +2 8
22,000,000 22,000
24 ZAISEH 580,500 0 580,500
= 174,150
= 406,350
301 EtE N = 580,500 0 580,500
= 174,150
Ea 406,350
02 A2 H -GS (FHAAHS, NSWE) 580,500 0 580,500
ONZ4l ZAtETHI 580,500,000 580,500
=S 174,150
s 406,350
LOI=EXAE 28 € 2 17,363,907 17,671,933 308,026
= 400,610
=S 5,968,216
ES 100,000
= 10,905,081
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FA SIS
Hm: Lol=X|SX
2ol I=SXAE 28 E 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,800,548
s 4,800,548
LOIEIIQYII WtEH XA 1,357,872 1,357,872
301 EtE N = 1,357,872 1,357,872
02 A2 A6 (FHAAS, NLWE) 1,357,872 1,357,872
OLe&IIeI2 MIEH X2
1,357,872,000& 1,357,872
DB Al 2 50,000 50,000
207 AR 50,000 50,000
01 H7ESHI 50,000 50,000
OLNEESEAl =8 HFES
50,000,000 50,000
2 K& 698,273 1,163,116 A464,843
ES 30,000
[Ea 668,273
101 @124H| 3,120 4,160 21,040
04 JIZtNZ2 2N S+ 3,120 4,160 1,040
Osds =22 otad acl
520,000 «6HE 3,120
201 2= 3,000 3,200 A200
01 At22t2lt] 1,800 2,000 A200
Olad o323 ATALEH
1,800,000 1,800
2 s5=34l 1,200 1,200 0
O848 zzd =t &ol+k 23
100,000& * 12 1,200
307 @I2to1 & 138,840 137,475 1,365
02 QB AANEE R 85,930 85,085 845
O3z =)l dEAMS
85,929,090& 85,930
6 2= 20,350 20,150 200
OZzd =28 50,0002 *407 K 2 20,350
11 AMEISXAEEXS 32,560 32,240 320
OYRY YALSAIY
40,0002 #4071 223 32,560
401 Al HIZ R 0HHI 49,880 0 49,880
ES 30,000
[Ea 19,880
01 Al&HI 49,880 0 49,880
O3 X AEHEA 89
1,580,000 1,580
OLQI3IXI3 HES dHE
15,000,000 15,000
O&z2g HE=+ 3,300,000 3,300




A ARRISXID
Hm: Lol=X|SX
el LOI=RIAIE 29 U 21 (crol: m2)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OZ2Y SFIHEA 30,000,000& 30,000
X 30,000
402 BI2HR=0l M 503,433 1,018,281 A514,848
01 QI2EXH=AFE B 2 (KR THE ) 503,433 1,018,281 Ab514,848
OZ 2L XA 503,433
= 160,000,000& 160,000
-2+ 333,433,000 333,433
=) L=E 10,000,000& 10,000
22 IFE U2 A 250,000 250,000
402 BI2HR=0l M 250,000 250,000
01 QIR A 2= (KHRITH ) 250,000 250,000
OZRY ¥EY BHBLAY
250,000,000& 250,000
229 294 XA (KHA) 543,800 545,314 21,514
301 LetEEZ 543,800 541,814 1,986
03 A3 2 & A6 2 (R THA) 543,800 541,814 1,986
OZ2Y 29| K& 543,800,000 543,800
HZE Yoy (2=d]) X 734,340 837,308 A 102,968
= 367,170
& 110, 151
i 257,019
301 LEtBEF 119,598 187,868 268,270
= 59,79
& 17,940
= 41,859
01 A BE X2 (2 REETHA) 119,598 187,868 A68,270
22 242y X 119,598,000 119,598
= 59,799
= 17,940
o 41,859
307 QI2Hol A 614,742 649,440 A34,698
= 307,371
= 92,211
o 215,160
10 Al ZXAIEHE 2FHIEx 614,742 649,440 A34,698
OZ2g ditey| X2 614,742,000& 614,742
= 307,371
= 2,21
= 215,160
d2Y I8t 2AF XA 506,569 575,118 A68,549
& 151,971
= 354,598
307 QI2Hol A 506,569 575,118 A68,549
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FA SIS
Hm: Lol=X|SX
2ol I=SXAE 28 E 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 151,971
2 354,508
11 ABI= XA 2 X 506,569 575,118 68,549
OZZL 0IIh23 AL KBRS
506,569,000& 506,569
= 151,971
Ea 354,598
JE22g dgey X2 74,014 69,464 4,550
== 14,804
o 59,210
307 212+01& 74,014 69,464 4,550
< 14,804
= 59,210
11 AMEISXAEEE 74,014 69,464 4,550
o2y &3 T2 Belo X
74,014,000& 74,014
= 14,804
Ea 59,210
Uet=0lel sdzZXa 29 352,901 174,229 178,672
307 @120l & 333,901 172,929 160,972
10 Al SXAIZEE2EHIEx 122,821 172,929 250,108
Otfet=0lsl sd=2X2 2SN
122,821,000& 122,821
11 AMEISXAEEES 211,080 0 211,080
OZzgHEXEsHl K
211,080,000& 211,080
402 2IZtA=01d 19,000 1,300 17,700
01 QI XHZ AL E (KM THE) 19,000 1,300 17,700
Olgt=2ls s4dzXl2 JHl22 K&
19,000,000 19,000
tetclsl AIZXIE AIR= 2S X3 31,621 30,339 1,282
< 6,324
= 25,297
307 elztol & 31,621 30,339 1,282
= 6,324
= 25,297
10 Al SXAAEEHE2EHI2x 31,621 30,339 1,282
Ot SE2Xal AR= 2SI
31,621,000& 31,621
= 6,324
o 25,297
ZZ2EX210IAHS 249,600 248,400 1,200
[ 74,880
T 174,720




2A: A=
M Lol=X =X
&l: LoISXIAIE 29 2 2e) EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 249,600 248,400 1,200
& 74,880
= 174,720
11 AL =SXAMEES 249,600 248,400 1,200
Od=zg XI2|0IArS 249,600,000& 249,600
& 74,880
o 174,720
d2Y 29 X2 36,410 37,150 AT40
= 5,857
= 30,553
307 2I2+01A 36,410 8,800 27,610
= 5,857
= 30,553
11 AR SXAMEER 36,410 8,800 27,610
OZrg e 2= X
28,490,000 28,490
& 4,273
= 24,217
OZ2E3& w=sdl XA 7,920,000& 7,920
T 1,584
= 6,336
LOIQAANA JsE2 66,880 0 66,880
= 33,440
T 23,408
= 10,032
402 QI+ Rt=01H 66,880 0 66,880
= 33,440
T 23,408
[ 10,032
02 QIZIXEAEEAE(OIMTHSA) 66,880 0 66,880
O&EIIRII[2Z CCTV K& At
66,880,000 66,880
= 33,440
& 23,408
[ 10,032
Hz Lol=Xa 29 & 22| 70,000 0 70,000
= 70,000
401 A& B 20HY| 70,000 0 70,000
e 70,000
01 Al&HI 70,000 0 70,000
ORmM2 Lel=X2 JIsEZ At
70,000,000 70,000
e 70,000




ST A=
LoI=XIER
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oF
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Hlw

486,000
486,000
486,000
468,989

218,45

MEE
Ofl &k2h

2,054,938

1,026,328

Ofl &F2H

486,000
486,000
486,000
15,000
35,000
65,000
20,000
20,000
75,000
22,000
20,000
22,000
22,000
20,000
85,000
15,000
10,000
20,000
20,000
2,523,927

i

374,583
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H
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=X
ST

A ARISX
Hd=X

o™

XY ZH +

od
i’
o
uJ

(GEEIN

=aak

-

KIO

Hlw

15,200
15,200
13,000

39,529
39,529
39,529

N0
A40

N2,379

242,680

H
ol &y

41,800
2,000
2,000

600
600

39,200

11,000

78,474
35,834
12,060
23,774
49,479

Ofl &F2H

2,000
2,000
2,000
600
600
600
24,000
13,000
13,000

26,600
11,000
11,000
39,529
39,529
39,529

39,529
35,794
35,794
12,020
11,060
1,200
2,500
2,000
3,200
1,800
360
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23,774
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11 At

11,000,000

OWdEXIEA & W=
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30,0003 ~1CH =122
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=l
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39,529,000
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SA: ASI=XID
33 od=Nsd
el HE =R EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 47,100 49,479 A2,379
= 13,230
= 33,870
04 DM 22 XS24 47,100 49,479 £2,379
OZS0IQIEH (AT Me)) 2
47,100,000 47,100
=S 13,230
s 33,870
I EHYEL 28 172,790 164,988 7,802
7l 86,39%
= 43,198
o 43,197
307 @I2t01 & 172,790 164,988 7,802
Il 86,3%
= 43,198
Ea 43,197
10 Al SXAEEHE 22X 172,790 164,988 7,802
Otg=84d84 248 Nd
172,790,000 172,790
Il 86,3%
= 43,198
[Ea 43,197
IS EHAEA SAA Sclsdy| 6,000 6,000 0
307 @120l & 6,000 6,000
11 AMISXAIEEX 6,000 6,000
OJIE =84 Ea SAL Sel=dd|
100,000 x5 * 122 6,000
IR ZEIIch A 2/ =] 1,883 1,883 0
Il 1,318
== 282
o 283
307 212+01& 1,883 1,883 0
Jl 1,318
= 282
o 283
1 AMISXAIEEX 1,883 1,883 0
OJIE ==l At 2lzH| K&
1,883,000& 1,883
7l 1,318
= 282
o 283
JHEES0thA WEXE 2208 1,507 1,507 0
Jl 1,085
= 226




SA: ASI=XID
33 od=Nsd
el HE =R EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 226
307 gl2tol & 1,507 1,507 0
Il 1,085
= 226
= 226
1 ABIZXIALEE 1,507 1,507 0
OIEEIIGHN DEXS T2 2
1,507,000& 1,507
Jl 1,085
= 226
= 226
HE=52dAlE 2gdl N 6,000 6,000 0
= 1,800
o 4,200
307 @120l & 6,000 6,000 0
== 1,800
o 4,200
11 AMRISXAEEES 6,000 6,000 0
Oug=2EAe 238 NA(21248])
6,000,000 6,000
= 1,800
= 4,200
HEZHIoHA 2= A2 917 1,125 A208
S 275
o 642
307 @120l & 917 1,125 A208
== 275
o 642
11 AR SXAIEE X 97 1,125 A208
Og=4nloikt 2K 917,000 917
== 275
= 642
e Fe X2 15,000 15,000 0
= 4,500
Ea 10,500
307 el2to| & 15,000 15,000 0
= 4,500
o 10,500
1 AMISXAIEEX 15,000 15,000 0
OXYYES NYDSEY 29
15,000,000& 15,000
& 4,500
Ea 10,500
e FAXN2HEH 2 48,780 47,560 1,220




SA: ASI=XID
33 od=Nsd
el HE =R EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 14,634
s 34,146
307 lztol & 48,780 47,560 1,220
= 14,634
= 34,146
11 AMEISXAIEEXS 48,780 47,560 1,220
OWdxgXN2II2 2g 48,780,000& 48,780
= 14,634
o 34,146
04 FHIXAHH 238 X2 (XHA) 1,560 1,560 0
307 @I2t01 & 1,560 1,560
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402 2IZtA=01d 142,508 17,306 125,203
Jl 71,254
= 49,878
= 21,376
02 QI X2 AL EE(0IHTHE) 142,508 17,305 125,203
OO0IS=XAIE JIsEZ Atg
142,508,000 142,508
) 71,254
= 49,878
= 21,376
A0S NEXEH 19,600 9,350 10,250
= 13,720
S 2,352
= 3,528
301 LEtE N = 19,600 9,350 10,250
= 13,720
& 2,352
Ea 3,528
01 AR 2EHSHS(RDNEXRTHE) 19,600 9,350 10,250
OZAHHots THEX 19,600,000 19,600
= 13,720
== 2,352

S




SA: AR =X

2 ols=Xsd

Chel: Ols=SXIAIE K& & 2e) EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 3,528
ANEO0tSE LA X2 16,980 16,980 0
== 6,777
[Ea 10,203
301 2eEN= 16,980 16,980 0
< 6,777
s 10,203
02 MBI 2HHSFHS(HAANS, XLHE) 16,980 16,980 0
OAIZ0tSE A X 16,980,000& 16,980
= 6,777
o 10,203
g2 23 25,200 24,000 1,200
307 @120l & 25,200 24,000 1,200
10 AlRISXAIZEE 22X 25,200 24,000 1,200
ogglla =249 25,200,000& 25,200
OISE2dEII2 € IIEASXNEHEH A2 RE= 86,316 85,622 694
308 XXM SOIA 86,316 85,622 694
07 Xt RS2 86,316 85,622 694
O0ts23dE)|2 2d NZREs
60,512,000& 60,512
ONZaclde K& ANzZREs
2,187,000& 2,187
OSSN EHEHEZE AZRE=
18,392,000& 18,392
OOISBSHRIIZ (R4E AIRRES
4,651,000 4,651
OINFASTBHE 24T AR
574,000 574
OtS= X WAL IHAXIR 415,755 401,054 14,701
[ 159,544
= 79,772
o 79,772
= 96,667
101 @124H| 415,755 401,054 14,701
= 159,544
== 79,772
o 79,772
= 96,667
03 BRA(RIH )22 U2+ 391,347 393,205 1,858
OOIS=SAI WAL SI1HSHE Q12| 294,680
-Jl== 250,932,000 250,932
[ 125,466
= 62,733
Ea 62,733
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SN A=K
B2 OIS =XISE
Chel: Ols=SXIAIE K& & 2e) EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-NEIRE JI2ReE 43,748,0002! 43,748
2 21,874
= 10,987
2 0,937
OOISEXIMAF RIIH S ek Q12AH| (Xt
H) 9,667
1= (E0tE) 6. 120,002 6,120
= 6,120
—2EIIE 6,912,002 6,912
= 6,912
R4y 8,352,002 8,352
= 8,352
S [ 4,020,0002! 4,020
= 4,020
OtESY 17,280,000 17,280
= 17,280
“YEEIM 12,260,002 12,260
= 12,260
Sl 600,0002 600
= 600
-FogAl| 25,200,002 25,200
= 25,200
-RE2 | 13,082,002 13,082
= 13,082
SI=0Hl 2 DSEA 300,002 300
= 300
~AI2HRIZ RS (XIS ARSI = XI AL
1,091,002 1,001
= 1,001
=L 1,500,002 1,500
= 1,500
WBIEDIEEEERS 24,408 7,849 16,550
OO0ISE X WAF THAXIE 24,408,000 24,408
2 12,204
= 6.102
2 6,102
XIS OSHIE X2 215,800 214,300 1,500
301 YBrEFEZ 4,500 3,000 1,500
02 ABIRERSFS(FHAHE, L) 4,500 3,000 1,500
OHBAY XML 4,500,0002! 4,500
307 BI2H0IH 211,300 211,300
N ERNEEEEETIEES 115, 100 115, 100
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2A:

E M

X=]

Ar2l = X 2t
ors=EXsd

D OISSEXAIE Xd & 2el

SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OXY0ISHH 2| X (ZHIFIH2)
115, 100,000& 115,100
11 Al =SXAMSEES 96,200 96,200 0
OX4dots4dH MEsts N3
91,200,000& 91,200
OXlSiotsHE 238d XA
5,000,000& 5,000
XEotsHdlEe 224 X 375,504 1,565,400 A 1,189,8%
= 187,752
= 93,876
i 93,876
307 2I2+01A 375,504 1,565,400 A1,189,8%
s 187,752
& 93,876
= 93,876
10 Al = XA EBHE2IHIEX 375,504 1,565,400 A1,189,8%
OXIgots4dH Jl2298l XI&
357,324,000& 357,324
s 178,662
= 89,331
= 89,331
OX<otsHe =24l X
18,180,000 18,180
s 9,090
& 4,545
= 4,545
KE0ISHE SAHA Sel=M4H] X2 81,000 81,000 0
301 LetENEZ 81,000 81,000
03 MBI B & 6I2(RILTHE) 81,000 81,000
OXIG0tsHIE SALA Sel=M4d| X2
81,000,000 81,000
XS0otsHlE el X2 1,492,848 0 1,492,848
s 746,424
& 373,212
= 373,212
307 212+01 ™ 1,492,848 0 1,492,848
= 746,424
= 373,212
i 373,212
10 Al ZXAIEHE 2FHIE X 1,492,848 0 1,492,848
OXI0otsSHIE 1248 XI&
1,492,848,000& 1,492,848
= 746,424
& 373,212
i 373,212

83




2A:
X XH -
o e

=aak

Ar2l = X 2t
ors=EXsd

OIs=XAIE XIE &

1]

el

S - B

- SRA(E) - HIRAY

- HyS

Ofl &F2H

MEE
Ofl &k2h

XISOISHIE| S&E ZItXe

HH A

55,920
27,960
13,980
13,980

45,600

307 212t01&

HoH A

55,920
27,960
13,980
13,980

45,600

10,320

10 MeISXAEHE2EHIEX

OXS0tSHE SH+SHE ZIHXIE

OXY0tsdH E2E I

52,080,000

oA

3,840,000

HOH A

55,920

52,080
26,040
13,020
13,020

3,840
1,920
960
960

45,600

10,320

KN 0otsHE S3Me X

HoH A

40,000
20,000
10,000
10,000

40,000

Xt

M

o

[
i

0
J

402

Mo A

40,000
20,000
10,000
10,000

40,000

02 RIENZAEE X (01 THR)

OX0tsHE SZHS XA

40,000,000

Mo A

40,000

40,000
20,000
10,000
10,000

40,000

M

18,480
7,392
11,088

13,500

4,980

307 212t01&

M H

18,480
7,392
11,088

13,500

4,980

10 Al SXAEEHE 22X

OXIZ0otsHE 24X

18,480,000

M H

18,480
18,480

7,392
11,088

13,500

4,980

=
19
=
O
x
m
e
ry
==
i
M
0t

X2

Z2(&

111,152

111,152




2A:

Ar2l = X 2t

g OlIs=Asd
Chel: Ols=SXIAIE K& & 2e) EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 33,346
s 77,806
307 lztol & 111,152 0 11,1582
= 33,346
= 77,806
10 Al SXAAEEHE2EHI2x 111,152 0 11,152
OXISotsHlEH lAHl f52(SSH) X
111,152,000 111,152
=S 33,346
s 77,806
2EIH A2 26,203,574 24,507,938 1,695,636
= 11,031,035
Jl 207,080
= 8,200,272
o 6,765,187
=0t A& =Y 15,942,066 14,753,846 1,188,220
= 7,131,035
= 5,805,910
o 3,005, 121
Oelold & oS 447,680 447,680 0
202 04dl 7,680 7,680
01 =LHNHI 7,680 7,680
2587 =Y 7,680,000& 7,680
301 EtE NS 440,000 440,000
02 ARI2HHSFS(HAAS, NLHE) 440,000 440,000
O0e0ld = - 2tAH| X2
7003 2,500 x240! 420,000
OzlatZa XA 20,000,000 20,000
Oelold SAAH XI& 20,040 20,840 2800
201 fer23| 1,700 1,700 0
01 AtR2t2|HI 1,700 1,700 0
O0el0ld g0 dit+ZH|
500,000& 500
O0e0IE SAH 2E5H2 R34 2N
M 100,000& 12 1,200
301 EtE NS 240 1,040 A800
1 AIREINES 240 240 0
ONYBSHHMLAAS BLT S2AY|
240,000 240
307 @20l & 18,100 18,100
1 AMISXAIEEX 18,100 18,100
Oosdz 252 U= 15,000,000& 15,000
ONEold Wiu= 328
3,100,000& 3,100
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SA: AR =X

XM SSEM ]|

Chel: R0t AESH (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=g X2 292,858 849,147 556,289

= 190,358
== 51,250
[Ea 51,250
301 2eEN= 292,858 849,147 556,289
= 190,358
=S 51,250
s 51,250
01 Al EEHS(FRDEXMH) 292,858 849,147 556,289
OoJged=s=g XN 292,858,000 292,858
= 190,358
= 51,250
[Ea 51,250
ROIE=SEAH 6,974,498 7,813,227 A\838,729
2 4,533,424
= 1,220,537
Ea 1,220,537
301 EtE2 NS 6,974,498 7,813,227 A\838,729
2 4,533,424
= 1,220,537
= 1,220,537
01 Al EE A ZS(2REXMR) 6,974,498 7,813,227 A\838,729
Ogrot2sz X2 6,974,498,000& 6,974,498
= 4,533,424
< 1,220,537
s 1,220,537
sy 29 3,857,849 4,116,166 A258,317
= 3,857,849
301 2eEN= 3,857,849 4,116,166 A258,317
< 3,857,849
02 A EEHS(FIANE, XLTHE) 3,857,849 4,116,166 A258,317
Oty 29 3,857,849,000& 3,857,849
s 3,857,849
Oelold RERY 258 XAXA 458,160 456,000 2,160
301 LEetE N = 458,160 456,000 2,160
02 ANRI2HASFS(HAAS, XNLHE) 458,160 456,000 2,160
O3AMl 288 NI
93,0002 x230H 122 256,680
O4-5M EF8 XA
73,0003 x230E « 12 201,480
SOISEXNZHEH 34 24 29 176,900 165,000 21,900
= 22,860
o 154,040




2A:
PSER
o e

el

It

S - BE - B9I(3H) - NRAY - BES

Ofl &F2H

MEE
Ofl &k2h

307 212t01™

M H

176,900
22,860
154,040

155,000

O
k)
o
O
id
sl
o
x 0
o
0o
0x
MO
B>
i

=

153,500,000

OSOEEXNZHE AlZ 24 S22
A& 23,400,000&

M

A H

176,900

153,500
13,500
140,000

23,400
9,360
14,040

155,000

21,900

ANZHESF X2 AE

Mo W

46,000
23,000
11,500
11,500

44,364

1,636

HH W

46,000
23,000
11,500
11,500

44,364

1,636

46,000,000

HoH W

46,000
46,000
23,000
11,500
11,500

44,364

1,636

HoH W

3,668,081
2,384,253
641,914
641,914

851,422

2,816,659

MW

3,668,081
2,384,253
641,914
641,914

851,422

2,816,659

3,668,081,000&

MW

3,668,081
3,668,081
2,384,253
641,914
641,914

851,422

2,816,659

m
o
iR
M0
08

=
[l
I

bl

&0

M

10,261,508
3,900,000
207,080
2,394,362
3,760,066

9,754,092

507,416
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FA SIS
M DM TABL
2l Oelold 29 & 22 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 5,545 7,122 A1,577
= 2,218
= 3,327
11 AMEISXAIEEXS 5,545 7,122 A1,577
O0el0ld HdsHe SHE N
5,545,000& 5,545
=S 2,218
s 3,327
EFUNE FV2EFE XS 46,587 62,640 16,053
< 13,976
= 32,611
301 EtE NS 46,587 62,640 16,053
= 13,976
= 32,611
02 ALRI2EH G (FHAAHS, NSWE) 46,587 62,640 /16,053
OE|IRY BI|244L X
46,587,000& 46,587
= 13,976
o 32,611
SRV HLISH X3 (=Hl) 464,793 570,790 105,997
[ 185,917
T 278,876
301 LEIE NS 464,793 570,790 106,997
= 185,917
= 278,876
02 ARSI 2 X LGS (FHAAHS, W) 464,793 570,790 105,997
OEFuXa X244l X2
464,793,000 464,793
= 185,917
o 218,876
Ol2I01E JIs22AIE 2,000 34,000 /32,000
= 1,000
= 500
o 500
402 2I2FX=01& 2,000 34,000 /32,000
= 1,000
= 500
o 500
02 QI X2 AL E R (01X THE) 2,000 34,000 /32,000
OO0l Vs 2,000,000& 2,000
= 1,000
= 500
= 500
oelold &=d 29 N 840,500 840,500 0

_39_




FA SIS
M DM TABL
2l Oelold 29 & 22 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 840,500 840,500
10 Al SXAIEEHE 22X 840,500 840,500
O0eloly Z=e 28 X
840,500,000 840,500
Sd0el0ld 22X 24 1,000 0 1,000
401 Al HIZ S OHbI 1,000 1,000
01 AlZ2H| 1,000 1,000
OSHNH0IE X 22 (2EHD] )
1,000,000& 1,000
Oelold SJ13&I| 244l X 36,369 39,600 A3,231
S 10,911
= 25,458
307 elzto| & 36,369 39,600 A3,231
= 10,911
[Ea 25,458
10 Al SXAAEEHE 22X 36,369 39,600 A3,231
Oolglold sJ18801 2481 A&
36,369,000 36,369
s 10,911
s 25,458
SIEOE0E 2g XA (HEAY) 90,175 90,175 0
& 67,631
= 22,544
307 lztol & 90,175 90,175 0
= 67,631
o 22,544
10 Al SXAAEEHE 22X 90,175 90,175 0
OssE0elold 2€ Xd
90,175,000 90,175
=S 67,631
s 22,544
OIS (Ex)=<01 X 87,528 85,680 1,848
< 35,011
s 52,517
307 glztol & 87,528 85,680 1,848
= 35,011
= 52,517
11 AMEISXAIEEXS 87,528 85,680 1,848
OotoI#=(EK)c<0l X
87,528,000& 87,528
=S 35,011
s 52,517
EFUHE AIMAZRE 74,590 86,400 A11,810
< 29,836




2A: A=
Hu: BREM AV
2l Oelold 29 & 22 EEED
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
[ 44,754
301 LPBNF 74,590 86,400 211,810
T 29,836
= 44,754
02 ANSIBEEHS(FHLHS, NYME) 74,590 86,400 211,810
OFSDEE Al22Pre
74,590,000& 74,590
= 29,836
= 44,754
SH 8ol elold X2 24,000 28,800 24,800
& 9,600
[ 14,400
307 212+01™ 24,000 28,800 A4,800
T 9,600
= 14,400
10 Al = XA EHE2FHIE X 24,000 28,800 24,800
OsH 8ol Helold XMHH2IXA
24,000,000 24,000
= 9,600
= 14,400
=SS HE0IE ESAY 2,000 120,000 A118,000
201 B2 AY| 2,000 0 2,000
02 3324l 2,000 0 2,000
o333 2,000,000& 2,000
BEUN2 HRIMS X2(EXWAH 1,266,000 1,223,245 42,755
= 633,000
& 316,500
= 316,500
307 212+01 ™ 1,266,000 1,223,245 42,755
= 633,000
= 316,500
= 316,500
10 AISIS XA EEE2IHIE X 1,266,000 1,223,245 42,755
OBZXnAF XI& 1,266,000,000& 1,266,000
= 633,000
= 316,500
= 316,500
ANZ EKUAE MRS XIS (CHHIRAL 24,000 186,660 A162,660
= 12,000
= 6,000
= 6,000
307 QIZ2t01 A 24,000 186,660 A162,660
= 12,000
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FA SIS
M DM TABL
2l Oelold 29 & 22 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,000
s 6,000
10 Al SXAEEHE2EHI2x 24,000 186,660 162,660
OUA A XIA 24,000,000 24,000
= 12,000
< 6,000
[Ea 6,000
S0 HRME X (=) 1,040,000 1,062,514 N22,514
= 520,000
== 260,000
[Ea 260,000
301 22N = 1,040,000 1,062,514 N22,514
= 520,000
=S 260,000
s 260,000
01 Al EE A S(FREXH) 1,040,000 1,062,514 N22,514
OBAI2SE 2N A 684,000,000 684,000
=2 342,000
< 171,000
2 171,000
OSEESDA SEIDLY
356,000,000 366,000
= 178,000
= 89,000
o 89,000
S3AEE Jelel228 M (0elold 295,829 0 295,829
7l 207,080
= 26,625
o 62,124
401 Al HIZ S OHbI 295,829 0 295,829
Il 207,080
= 26,625
o 62,124
01 Al&H| 295,829 0 295,829
O3g0ielold Oelcl2ed
295,829,000 295,829
Il 207,080
= 26,625
= 62,124
SSEOE0d Al KIE A 3,000 0 3,000
=S 1,200
s 1,800
402 2I2F X201 & 3,000 0 3,000
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FA SIS
M DM TABL
2l Oelold 29 & 22 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,200
s 1,800
02 QIZEHE AL E (01X THE) 3,000 0 3,000
O3380ia0ld &ZHAd| K&
3,000,000& 3,000
= 1,200
Ea 1,800
A2 O2l01E HMECIE KIEAY 13,927 0 13,927
== 5,571
o 8,35
307 212+01& 13,927 0 13,927
== 5,571
= 8,35
10 Al SXAEEHE2EHI2x 13,927 0 13,927
O0el0lE HAHZCIE K2 AH
13,927,000& 13,927
= 5,571
Ea 8,356
SE S FAANS ExWAA 28] X2 139,665 0 139,665
== 55,866
o 83,79
307 212+01™ 139,665 0 139,665
[ 55,866
T 83,79
10 Al2ISTIAIEEE 22X 139,665 0 139,665
=& S FHoXS 2SDEY 2
139,665,000 139,665
= 55,866
o 83,799
YA HHI(AIZI =X 38,547 36,567 1,980
JI2ZHI(AISI S XI1) 38,547 36,567 1,980
Jl=2&H] 38,547 36,567 1,980
201 er23 | 29,847 29,967 A120
01 At2t2lt] 27,585 28,095 2510
Oget=ZHI 7,870,000 7,870
O=gH| 8,000,000& 8,000
O=AD| gtz 300,000 «1CH* 122 3,600
O&F=D| Xz 46,9002 x1CH* 122 563
O3JIE8I| gxtz
33,000 »2CH =128 792
O#EIH 225 FH| 6,760
-2l Zelh 4,400
- EU 440,000 x1CH x4 523 3,520




SA: AR =X
M HAE2HAHI(AE=X1)

Sl D12l (AIEI =S X1 (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 440,000 *1CH*23] 880
-LBHIEIE 200,000 +5CH*23 2,000
—FAX 120,000 * 1CH*32] 360
02 S3=gHl 2,262 1,872 390
Ol FAIE2==H| 2,262
-CHISAISI101 1,300,000 *26CH *5% 1,690
-Zgly 4,000,000& *7CH*2% 560
—FAX 600, 0002 *1CH*2% 12
202 04| 2,400 2,400
01 =LHOHI 2,400 2,400
OAt2I=XI L B2 04|
2,400,000 2,400
203 HR=H] 4,800 4,200 600
M EAEgER=A 4,800 4,200 600
ORAMZEYE =2t 400,000& 122 4,800
405 KHoHF S| 1,500 0 1,500
01 ML ESFSHI 1,500 0 1,500
O=A eIt 7 1,500,000& 1,500




